

ORDER

Nº C_____

50042

BOX 438 - HAYSVILLE, KANSAS 67060 316-524-1225

		0,0021,1220	DATE	11-Oct 20 19
IS AUTHORIZED BY:	Vess Oil	(NAME OF CUSTOMER)		
Address		City	State	
TO TREAT WELL AS FOLLOWS Lease	Heinz	Well No. B-7	Customer Order No.	
Sec. Twp. Range		County Barton	State	KS

CONDITIONS: As a part of the consideration hereof it is agreed that Copeland Acid is to service or treat at owners risk, the hereinbefore mentioned well and is not to be held liable for any damage that may accrue in connection with said service or treatment. Copeland Acid Service has made no representation, expressed or implied, and no representations have been relied on, as to what may be the results or effect of the servicing or treating said well. The consideration of said service or treatment is payable. There will be no discount allowed subsequent to such date. 6% interest will be charged after 60 days. Total charges are subject to correction by our invoking department in accordance with latest published price schedules.

The undersigned represents himself to be duly authorized to sign this order for well owner or operator.

THIS ORDER MUST BE SIGNED

BEFORE WORK IS COMMENCED By

		Well Owner or Operator		gent
CODE	QUANTITY	DESCRIPTION	COST	AMOUNT
20.0001	15	Mileage P.U.	\$2.00	\$30.0
20.0002	15	Mileage P.T.	\$4.00	\$60.0
20.0003	1	Pump Charge Plug	\$650.00	\$650.0
20.1002	230	60/40 Poz 2% Gel	\$11.25	\$2,587.5
20.1004	5	Add. Gel after 2% Per Sack	\$22.00	\$110.0
20.1005	13	Gel on side per sack	\$22.00	\$286.0
20.1017	200	Hulls per lb.	\$0.40	\$80.0
	4			
20.0011	248	Bulk Charge	\$1.25	\$310.0
20.0012	165.3	Bulk Truck Miles	\$1.10	\$181.8
		Process License Fee on Gallons		
		TOTAL BILLI	NG	\$4,295.3

I certify that the above material has been accepted and used; that the above service was performed in a good and workmanlike manner under the direction, supervision and control of the owner, operator or his agent, whose signature appears below.

Copeland Representative

Nathan W.

	and the same of th	Trust to the trust
Cintian	CP	

Station GB Hunter H.

Well Owner, Operator or Agent

Remarks



TREATMENT REPORT

Acid Stage No.

Date 1					Type Treatment: Am		Type	issid	Sand Size	Fou	nds of Sand
	0/11/2019	District GB	F.O. P	lo. 500042	Bkdown				22000		102 07 210110
	Vess Oil										
Vell Nam	e & No. Heinz l	37				Bbl./Gal.					
ocation	2000		Field			Bbl /Gal					
ounty.	Barton		State KS		Flush	fibi./Gal.					
9					Treated from					No. ft.	0
lasing.	Size 5.5'	Type & Wt.		Set atft.	from	ft	. 10		ft.	No.ft.	0
ormation	E		Perf.	to	from	n.	. 10		n.	No.ft.	0
ormation	31		Perf.	to	Actual Volume of Oil / Wat	er to Load Hok	E				Bbl./Gal
ormation	13		Perf.	to	Secure Control						
iner: Si	ze Type I	l Wi	Top at ft.	Bottom atft.	Pump Trucks. No. User	d: Std.	365	Sp.		Twin	
	Cemented: Yes	▼ Perforated f	from	ft. toft.	Auxiliary Equipment				367		
ubing	Size & Wt.	2 **	Swung at	ft.	Personnel Nathan-Gre	g-Clarence					
H-c	Perforated (ron	ft. to	n	Auxiliary Tools						
					Plugging of Sealing Materi	als: Type					
pen Hole	Size	T,D,	ft, P	8. toft.					Gal	٧,	lb.
ompany	Representative		Hunter	Н.	Treater			Nathar	W.		
TIME	PRE	SSURES	Total Fluid Pumped			REMARI	16				
.m./p.m		Casing	Total rate rate			REMUMA	6			Berline Land	
:30	2"	5.5"		On Location.							
				Miv 12che of Go	l and 60sks 60/4	Opor 494	aalwi	th 100	344 A C . 15	2000	- 1
				IAIIY TORKS OL GE	1 allu 003K3 00/4	ohor 4 10	ger wi	CII TO	J# Hulls	at 3000)'
				IVIIX 135K5 OF GE	1 and 003k3 00/4	opoz 476	gei wi	(11 10(J# Hulls	at 3000)'
					100# Hulls at 140		gei wi	(11 100	J# Hulls	at 3000)'
							gerwi	(11 200	J# Hulls	at 3000)'
				Mix 70sks with	100# Hulls at 140	00'	gerwi		J# Hulls	s at 3000)'
				Mix 70sks with		00'	gei wi		J# Hulls	s at 3000)'
				Mix 70sks with	100# Hulls at 140	00'	gei wi		# Hulls	s at 3000)'
				Mix 70sks with	100# Hulls at 140	00'	gei wi		# Hulls	s at 3000)
				Mix 70sks with Mix 100sks at 7 Shut down.	100# Hulls at 140	00'	gei wi		# Hulls	s at 3000)
				Mix 70sks with	100# Hulls at 140	00'	gei wi		# Hulls	s at 3000)
				Mix 70sks with Mix 100sks at 7 Shut down. Thank You!	100# Hulls at 140	00'	gei wi		# Hulls	s at 3000)
				Mix 70sks with Mix 100sks at 7 Shut down.	100# Hulls at 140	00'	gei wi		# Hulls	s at 3000)
				Mix 70sks with Mix 100sks at 7 Shut down. Thank You!	100# Hulls at 140	00'	gei wi		# Hulls	s at 3000)
				Mix 70sks with Mix 100sks at 7 Shut down. Thank You!	100# Hulls at 140	00'	gei wi		# Hulls	s at 3000)
				Mix 70sks with Mix 100sks at 7 Shut down. Thank You!	100# Hulls at 140	00'	gei wi		J# Hulls	s at 3000	
				Mix 70sks with Mix 100sks at 7 Shut down. Thank You!	100# Hulls at 140	00'	gei wi		J# Hulls	s at 3000	
				Mix 70sks with Mix 100sks at 7 Shut down. Thank You!	100# Hulls at 140	00'	gei wi		J# Hulls	s at 3000	
				Mix 70sks with Mix 100sks at 7 Shut down. Thank You!	100# Hulls at 140	00'	gei wi		J# Hulls	s at 3000	
				Mix 70sks with Mix 100sks at 7 Shut down. Thank You!	100# Hulls at 140	00'	gei wi		J# Hulls	s at 3000	
				Mix 70sks with Mix 100sks at 7 Shut down. Thank You!	100# Hulls at 140	00'	gei wi		J# Hulls	s at 3000	
				Mix 70sks with Mix 100sks at 7 Shut down. Thank You!	100# Hulls at 140	00'	gei wi		J# Hulls	s at 3000	



ORDER

N° C

50043

BOX 438 - HAYSVILLE, KANSAS 67060

		3,0 324 1223	DATE	14-Oct 20 19
S AUTHORIZED BY:	Vess Oil			
		(NAME OF CUSTOMER)		
ddress		City	State	
O TREAT WELL S FOLLOWS Lease	Heinz	Well No. <u>B-7</u>	Customer Order No.	
ec, Twp. lange		County Barton	State	KS

CONDITIONS. As a part of the consideration hereof it is agreed that Coperand Acid is to service or treat at owners risk, the hereinbefore mentioned well and is not to be held liable for any damage that may agreed in connection with said service or treatment. Coperand Acid Service has made no representation, expressed or implied, and no representations have been relied on, as to what may be the results or effect of the servicing or treating said well. The consideration of said service or treatment is payable. There will be no discount allowed subsequent to such date. 5% interest will be charged after 60 days. Total charges are subject to correction by our invoicing department in accordance with latest published price schedules.

The undersigned represents himself to be duly authorized to sign this order for well owner or operator.

THIS ORDER MUST BE SIGNED

BEFORE WORK IS COMMENCED

		Well Owner or Operator	UNIT	gent
CODE	QUANTITY	DESCRIPTION	COST	AMOUNT
20.0001	15	Mileage P.U.	\$2.00	\$30.0
20.0002	15	Mileage P.T.	\$4.00	\$60.0
20.0003	1	Pump Charge Plug	\$650.00	\$650.0
20.1002	310	60/40 Poz 2% Gel	\$11.25	\$3,487.5
20.1004	6	Add. Gel after 2% Per Sack	\$22.00	\$132.0
20.1017	150	Hulls per lb.	\$0.40	\$60.00
				141
- 43		BOUNDS AND THE		
				7.7
			-	
20. 00 11	316	Bulk Charge	\$1.25	\$395.00
20.0012	209.1	Bulk Truck Miles	\$1.10	\$230.0
		Process License Fee on Gallons		
		TOTAL BILLING aterial has been accepted and used; that the above service was performe	3	\$5,044.5

manner under the direction	, supervision and control of the	e owner,operator or his agent, whose sign	ature appears below.	~
Copeland Representative	Nathan W.		¥45	40.0
Station GB		Hunter H.		
Remarks		Well Own	ner, Operator or Agent	
		NET 30 DAYS		



TREATMENT REPORT

					L				age No.	
Oste 1	0/14/2019	District GB	F.G.	No. 50043	Type Treatment:	Amt.	Fysher Files	Sand	2002	ounds of Sand
Cempany	Vess Oil			30043	Bkdown	Bbl./Gai.	- Constant and the Cons			
Well Nam	e & No. Heinz	6-7				Bbl./Gal.				
Location			Field			Bbl./Gal.				
County	Barton		State KS			Bbl./Gal.				
					Flush	Bbi_/Gal,				
Casing:	Size 5.5	" Type & W	t	Take 1			t. to		ft. No. ft.	0
Formation			Perf.	Set atft			t. to		ft. No.ft.	
Formation					from		t. to		t. No.ft	0
Formation			Perf.		Actual Volume of Oil /	Water to Load Ho	le:			Bbil./Gat.
echigana war		2111	Perf.	to						Det./Gar
Littlett, 3	Type	& Wt.	Top atft.	Bottom at ft.	Pump Trucks No. 1	Used: Std.	365 Sn			
	Size & Wt.	, situates	110(11)	n. to ft.	Auxiliary Equipment			0.6	1 Will	
	SHE OF MIT		Swung at		Personnel Nathan-G	reg-Clarence		0.0		
	Perforated	TIKOM	ft. to		. Auxiliary Tools					-
				1111	Plugging or Sealing Ma	terials: Type				
Open Hole	Size	Tax	fi. P	B to fit.		- 1,00				A
									Gaus.	tb.
Company	Representative		Hunter	FH.	Treater			Dekoo Servi		
TIME	PRI	ESSURES	1				N	athan W.	No.	
a.m./p.m.	Tubing	Casing	Total Fluid Pumped			REMAR	KS			
9:15	2"	5.5"		On Location.				1120		
				Car Location.		- 1			13)	ALC: N
130-				Mix 100cks 60/	10 10/- 1	ful geating				
No.				Mix 100sks 60/4	+upoz 4%gei w	ith 150# H	ulis at 1	600'		
				Miss 200-land	001 51 1		91.5			
	201		-	Mix 200sks at 8	00 Circulated	cement to	surface			
		+		Top off with 10s	sks.			3.14	3	
165		-								
50	-	-								-
2				Thank You!						
							7.			
				Nathan W.						
BU 2										
								_		
200										
(9)		1	1							
		-	_							
0 .			-		10.0					
W.T.										
4										
						T V			V	
-										